Activity 15 Extra Practice (parallelograms)
Name: &Y

In the diagram, ABCD is a parallelogram.
The diagonals of the parallelogram
intersect at point 7.

A B

[(><]

D c

1) If AB = 3x + 27 and DC = 60, find x.
AB=DC
A2x+27 =60
2x=33

X=U

2) If AT =2x-1and AC =3x+ 5, what is

TC? ey ——
2(AT) =pC AT=TC
2(2x—) =3x+5

U2 = 3xt5
X="1
TC=20)-!

3) If mzZABC = 3y + 5 and m£ADC = 5y — 45,
what is m«BCD?

MZARC = L ADC

y+5= 5y~ 45
52
25:5

MZRBCD + m4 ARC =1K0°
MZBCD = 10— 3(25)+5
4)IfAB=3z+1,DC=z+7,and AD = 2z,

what is BC?
AR =DC RC=AD
Rz =zZ+T AD =2(3)
2z =6 AD=6
z=2

BC=¢

Date:

5) If msATD = 6n+ 2, ms£BTC =5n+ 8, and
meADC = 13n + 2, what is msDAB?

mZADC + mZ DAR =180
m LATD =m LBRTC
nt+2. =5n+¥
N=6
MZDABR = (80— m LADC
=[50 — 12(e)+2
[moae = 007

Find x and y so that the quadrilateral is a

parallelogram.
<0ppos\"re sides are Conﬂ\(\wv\'>

6)
2+ 2x+q:x+u
foe~
zuy + 1‘}}'/ (o PpoS\“\‘e ang les are
x+ 11 Cm\ﬁmm*)
53{45[ = (06
ai =%7
7)
2x+ 4
— (oppostte sides +)
21 3x+ 3y ave Con3mw
2x+ '-\3:(93 +-\i>(
6y +1x
’ L\X*‘%S 1123-\-)(
5X+33 :’2\ 3X““ L\tj =5
- 2xMy=0
=21 2x-4(%)=0
Y
Ix —12=0
=2 S



Activity 15 Extra Practice (parallelograms)
Name:

8) In paralielogram TPQR, TP is 8 units
longer than side PQ. If the perimeter of
the figure is 56, find the lengths of the

. sides.
T 8 P P - ZCX) + 2()(*’8)
* 2)(4—2)(4—\(9:56
R & Uy +16=56
Ly =40

X=10

P6=TR=10
TP=QR=13%

9) In quadrilateral WXYZ, WX = 4x — 15,
XY =4x+20,YZ=3x+5, and
ZW = 6x — 20. What value of x proves that
W quadrilateral WXYZ is a parallelogram?
Yy~ X

S
wX=2zY
Uy~15=3x+5
—0R~—
Zw= XY

6)(—-' o) Yx+20

=z Bx+5 Y

10) Find the values of m and n that make
the quadrilateral a parallelogram.

3n-2 im
10n

[On+ 3n-2=1%0 Ceonsecutive angles
are SMPP‘t th

I3n —-2=180
13n=1%2
n=\4

—_— -— Ce— —

(opp- cm:ﬁe? 7m :_IOY’\
Are -
Covgrerrt Tm= |10

=20

Date:

11) The vertices of a quadrilateral are
A(1,5), B(5,—-3), C(2,-5), and D(~2,3).
Show that quadrilateral ABCD is a
parallelogram.
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+ Slope of D and

R is = BD 15 (1.5,0).
— The '
BN SlOPC G(: AR and 5 M\,e;f;‘te/ "H‘Qj biEEC;{"e&CJ(\
Z:T{ is —2Z OPPOSH‘Q sides are =
SOI‘WD“\EE and | AD=RC =13
) AB=CD=4{5

12) Use the diagram shown. Is the given
information enough to conclude that RMPC
is a parallelogram? Explain.
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